LV PRO silencer
Stainless steel
Co0d.3014124481

dB-killer n.52B
C0d.308437801

Aluminium spacer
D.e.27 xd.20
Ergsaxo1 10993 o 200535

2 Knurled collar
/®‘/—nut M8

Co0d.200298

Stainless steel bracketf]
Purch. Cod. 206383

Allen screw M8X55

1.C.Z.B.
Cod.200331

2 Aluminium spacer
-for allen screw M8-
Co0d.204321

Allen screw M8X65 ® O
1.C.Z.B.
Cod.201222 -

2 Allen screw
M5X12 T.B.E.I.
Cod.201031

2 Plain washer
5x15 Inox
Cod.406580 Carbon cover
Cod.083896002

ART. 14193E

Short helical spring
tensile
Cod.303949001

Pipe N°T1132
Co0d.3014046201

plate M5
Cod.204555

4 Gasket
14x4.9x1.5
Cod.200371

Strap-in stainless @41
C0d.300041530

HONDA X-ADV / FORZA 750 (Also fits A2 versions)

SLIP-ON - LV PRO - STAINLESS STEEL - APPROVED



	DT-14193E
	Vista del disegno23
	Vista del disegno27


